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01 At 2teltl 2,880 5,600 A2,720
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03 =A LI 30,000 42,000 A 12,000
O=Hus AR 20l 30,000,000& 30,000
301 gt d= 58,300 68,600 A 10,300
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SN BA(SA) - MRAY - BES il HImEET
stll*ssd 30,000 60,000 /30,000
HdYEYE 2 s S50 15,000 30,000 A 15,000
201 Yet2 | 15,000 30,000 A 15,000
FENEER 15,000 30,000 15,000
OflzZY & IJtx I =23ME S
15,000, 000& 15,000
sl nEz2 e 249 15,000 30,000 A 15,000
201 Let249H] 15,000 30,000 A 15,000
03 #AL2 I 15,000 30,000 15,000
Osg.0l s g 23
15,000, 000& 15,000
S M3 PRFA 5,000 5,000 0
S Ha HHEA 5,000 5,000 0
201 et Y| 5,000 5,000 0
02 222 5,000 5,000 0
O&E=AEZXALE 2 & X2 JIsE2g=
5,000,000& 5,000
UXARXNE S8 4&F=4 6,400 633,000 A 626,600
BIXHAMS =& 4,800 6,000 A1,200
201 L4l 4,800 6,000 A1,200
01 At 22l 4,800 6,000 A1,200
OQIRAIA =R AR 22 3,200,000 3,200
O&EEI A2 & A2 &4 1,600,000 1,600
QIXIAIE =& A2 S 1,600 2,000 A 400
201 £8-2dH| 1,600 2,000 A 400
03 A2 Z Hl 1,600 2,000 A 400
Oxp&ds s & 1,600,000 1,600
HERIZH(SEUHHX AL 29,260 32,290 A 3,030
Jl2ZH(SEUHX <) 29,260 32,290 A 3,030
J2ZH (SEUHX S 29,260 32,290 A 3,030
201 €24l 6,160 8,470 22,310
01 At 22l 6,160 8,470 22,310
ORN2Y AR 22l 6,160,000 6,160
202 044l 19,200 21,120 A 1,920
01 =L o4 1l 19,200 21,120 21,920
OJl2g2+=8udl(10 19,200,000 19,200
203 ¥ S =&l 2,400 2,700 A 300
04 FEANSEHE=LH 2,400 2,700 A 300
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